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308 XXM SOIA 760,000 70,000 690,000
06 I 20U EExS 760,000 70,000 690,000
odel=ssl UsSHLY SEMZ N2 530,000
OEHNEEW 282 USH SHANE SEAM
A K& 230,000
NEZ ZE2sH c22E MY 500,000 0 500,000
= 250,000
[ia 250,000
401 AIEHI L 2] 500,000 0 500,000
= 250,000
[ia 250,000
01 A& HI 498,000 0 498,000
OnNEz ZE2sZ cl22d A 498,000
& 250,000
e 248,000
03 Al S THHI 2,000 0 2,000
Ol S22 2U22E A 2,000
HEAME2d 575,346 345,546 229,800
AL 2el 575,346 345,546 229,800
101 124l 32,167 66,096 A 33,929
04 JI2ZtHZ22HEE =+ 32,167 66,096 A 33,929
OMSANE(EEg2sH U2 952,
TSES2SE ARSI E AZXE2)2e
oI 28,716
OoJlzgs 36,7203 x2EH 250 18,360
ORsSxd+g 36,7203 «2H x52 3,819
ORrsst=% 36,7203 x2H 11 808
Osgzx=2sH 36,7203 x2S x522 1.5 5,729
c4liEdg = 3,451
O=d3EE= 28,716,000& *4.5% 1,293
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< 796,280
e 1,287,260
=X E Z 3 1,504,000 1,164,000 340,000
= 1,052,800
< 157,920
i 293,280
2EM HEY 2 A FHIEH 1,250,000 500,000 750,000
= 875,000
< 131,250
e 243,750
401 Al B2 2B 14,200 0 14,200
= 9,940
< 1,491
e 2,769
02 Zeltl 14,200 0 14,200
O2EA BEH=Z S3AY Zeltl 14,200
= 9,940
< 1,491
s 2,769
402 RI2HXt20l 1,235,800 500,000 735,800
= 865,060
< 129,759
[ia 240,981
01 2I2tX2E X 1,235,800 500,000 735,800
O2EAN BEHZ S3AAY 1,235,800
= 865,060
< 129,759
[ 240,981
doolgE 25 4,000 4,000 0
= 2,800
= 420
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206 M= Hl 4,000 4,000 0
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< 420
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01 =8l 4,000 4,000 0
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= - — SHE|
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207 Ao H| 12,000 60,000 A 48,000
< 6,000
e 6,000
01 289 12,000 60,000 A 48,000
OZSMH=HEAHA J|=0t &Y 12,000
< 6,000
s 6,000
2t =8 B3I FH L A2l 29 20,000 20,000 0
< 10,000
s 10,000
401 AIEBIZ 201 8] 20,000 20,000 0
< 10,000
[ia 10,000
01 A& HI 20,000 20,000 0
OZStM=HEHAZH L &A22 22 20,000
< 10,000
e 10,000
SN HEE 2= 220,000 0 220,000
< 148,500
s 71,500
402 BI2HX=0l M 220,000 0 220,000
< 148,500
[ia 71,500
01 2I2tRE2E X 220,000 0 220,000
O=SdAL HSd E=FH| 220,000
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s 71,500
LEIIMN B 870,000 997,000 A 127,000
= 410,000
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e 457,000
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= 400,000
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401 Al Bl 2B 800,000 645,000 155,000
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01 A& HI 800,000 610,000 190,000
CLNEZU drus2t HE 800,000
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s 400,000
2SN A 42,000 342,000 A 300,000
307 21201 A 42,000 42,000 0
02 QI2tF A8 X 42,000 42,000 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OREIaMELUSA(DE22H) 222
A& 30,000
ORERIMELUEA(DEsR) 22d2g X
2 12,000
LEIM NE(EX) 20,000 0 20,000
= 10,000
< 3,000
fia 7,000
307 glz2tol & 20,000 0 20,000
= 10,000
S 3,000
s 7,000
02 QlIZtFAE X 20,000 0 20,000
O dsus Z2)dH 22X 20,000
= 10,000
< 3,000
[ia 7,000
SuN2IRA 8,000 8,000 0
307 21201 A 8,000 8,000 0
02 2ltF & E X 8,000 8,000 0
olndgn 2AXA 7,000
oOM32el 29X& 1,000
HdEME EEFH 500,000 200,000 300,000
= 250,000
< 125,000
e 125,000
oA E=FHIAY 320,000 0 320,000
= 160,000
= 80,000
e 80,000
402 RIZEX20| A 320,000 0 320,000
= 160,000
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01 RIZEAt2E X 320,000 0 320,000
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OFE2AA ETHAIABAS 80,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 45,000
402 212t X 20| & 180,000 0 180,000
= 90,000
& 45,000
= 45,000
01 Q228 X 180,000 0 180,000
O2£2 Y IHAIAE 2= 180,000
= 90,000
= 45,000
= 45,000
S &2l 80,361 85, 101 N4, 740
= 25,085
= 8,360
= 46,916
2322 38,556 43,296 N4, 740
101 e1214| 11,016 11,016 0
04 J|12ZtHIZ22NEES 11,016 11,016 0
OME=XAE 252 N 11,016
OH=&g & o8
36,720& x5 x15 x4 3| 11,016
201 B9 10,940 16,880 AN5,940
01 AP 22| H| 8,280 13,220 N4 ,940
Ot =2H| 4,500
O2sM&e 222 2
150,000 50l A x4 & 3,000
O2&MHIXl HE(Aas) 5) 2 1,500
o2gs¢ 3,780
OS2 MAJA NS+
70,000 x3¥H %1 .53 x12& 3,780
02 B32%H| 2,660 3,660 A 1,000
022322 % HA 1,160
O2STHZE (B EA BOAAE)HIR2
80,000& ~12& 960
O MY 254 HEEHE
200,000& 13| 200
O A& ZHI KXYl 1,500
OZ2EHEA & S LHETAIAE A A S X H 1,500
203 ¥ R =& H| 1,000 1,000 0
03 Al 2 =& 2 = X H| 1,000 1,000 0
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O23tM Hoatelol 24
100,000 130 A+ 12& 15,600

_25_



AN 22Z ML
Za: 25
& 23 2el
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
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< 8,360
s 8,360
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= 23,885
< 7,960
s 7,960
04 D12t Z2XEES 39,805 39,805
O SERLI AP (3H) 39,805
= 23,885
< 7,960
s 7,960
201 2et24d] 2,000 2,000
= 1,200
< 400
[ia 400
01 At 22/l 2,000 2,000
O=zstMEg & ABE 2 2,000
= 1,200
< 400
i 400
ge s 29 65,064 145,127
gersa 24 65,064 145,127
101 1A Hl 13,389 26,777
04 JIZHHZ2XNESE S+ 13,389 26,777
OEEE2 Ald2e o2y 12,876
OoJlzs 36,7203 x2H 105 7,712
ORrssgs¥ 36,7203 x2H x21 1,543
OsgI2fs+¥ 36,7203 1.5« 2H 21 2,314
428 1,307
— U3 EES 11,567,500& *4 . 5% 521
—MHEEZ 11,567,500& *3. 1% 359
—IUHLEES 11,567,500& *2.385% 276
—1EEEE 11,567,500& *1.3% 151
Ot A=HIEHI L HMEEY 513
201 2yt 2 Y| 34,275 75,550
01 At 22l 13,675 19,350
O g+t 13,675
Ogg=s2 sAEX 78
20,0003 x5t A +6E 600
Oogesa ETY 150,000& *53] 750
Ooggs2 22 A 500& +3,000% 1,500
Oggsa 2T 222 MA 500,0008+35 1,500
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AN 22Z ML
Zu: 25T
el geen 2y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ogeglsa T )d#H23dl 1,250,000 18] 1,250
Oggsa 23425 72 200,000& 62 1,200
OYEZ ABIIE =2
7,500,000& *0.5*0.5 1,875
OUHELEUIANE E5L2t
10,000& 5008 5,000
02 =224l 20,600 41,200 A 20,600
032323 2 HA 15,600
CEESHEEZERHR= & 100,0002 ~6& 600
O&I, A Mot =EANER RS
2,500,000& x6 & 15,000
o2I+E 1,400
OLUSHUSYAVFH LY
70,000 *10H »23] 1,400
O A& & Hl s X bl 3,600
Ogasa dIdEdR 150,000 6 900
OEetsa oFHIAIAE 2teldl
200,000& 6& 1,200
OAagrsdd #2 £ WA 500,000& =13l 500
O&AMEUW AM&FHH SXH 500,000 23] 1,000
206 M= Hl 2,400 4,800 A 2,400
01 MHZ 4l 2,400 4,800 A 2,400
O==&1) B&435 L M=+ 400,000& x6& 2,400
301 LA Z 15,000 30,000 215,000
12JIE243 15,000 30,000 A 15,000
oOngeEs=sa 2% 2sH 2,500,000 <6 15,000
NEHIXE 23 50,000 90,000 A 40,000
NEHIXNE 23 & 50,000 90,000 A 40,000
401 AIEHI L 2CHEI 50,000 90,000 A 40,000
01 A& tl 50,000 90,000 A 40,000
OXE - HXNEEZaM ZHl 50,000
HH2F A 105,160 111,520 A 6,360
Jl2dd(2st2 M =sa) 105,160 111,520 A 6,360
HEFAFH 4,200 4,200 0
203 YR =&l 4,200 4,200 0
04 RENSEHRZ=LH 4,200 4,200 0
OFRN2IYSZ=AHI 350,000& 128 4,200
2 B2 A 31,000 31,000 0
201 ¢et24] 31,000 31,000 0
01 At 2t 2l 30,600 30,600 0
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